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1- 1f y= e then
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2- X dx =........ v
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3-  Answer one of the following items : oSV 53,0 ) s
(A) Find : [ x (x + 2)% dx 8 ) o | st ()
(B) Find : J (x +5) e dx ws“"_z(ww)’\.\wi(y)
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x+1 Vo
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5- J& sec? x tan x dx
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6- Answer one of the following items:
(A) Find the local maximum and
minimum values (if found) of the
function f: f(x) = x* — 2x?
(B) Find the absolute extrema values of
the function f: f(x) =
interval [-1,3]

U"""”y‘ Jﬁd\d»\&w\
Sl (ol ) a5l (1)
Al (a9 ) ddad!

T V- f = ()5
Q\M\ L,Aé.-}\ v‘.ﬁ\ Jo-ji(g_))
Bj\mimad\dj;.,d\vﬁﬂ\j
[¥or-]am g <k =)
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7. ;i_)ngo(l_l_i):“x: ..................... =“V(?+\)\_V.aw_w'
@ 1 ® 3 v © v @
@ c @ e3 r_n: - @
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8- If the curve of the function
f(x) =ax?+ 12 x + 1 has a critical
pointatx = 2,then a =.........

@ 12 b -3 - @
© - @ 3 r @

DI gondd 5813

Lt Ve e b= ()
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9-  Find the equations of the tangent and the | $>seally bl Folae ]
normal to the curve : y = 3 + sec x at the | &&dl e o B+¥ = o o

point which lies on the curve and its slat 9 u’M"Y et
: T :
x - coordinate equals 2?” S Sl !
11 A s
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10- Find the area of the region bounded by | os 85 sl dakata)) d s sl
the curve y = V2x and the straight line V= e el

y:x w=u"W\j
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- fy=2t3+7, z=t>-4,
then the rate of change for ¥ with respect
tozequals...........

@ 2t b 3t
© 6 @ 12

t-T0 =B VY= o o8 13
B L andl 2 i Joae 018
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12- The curve of the function
f:f(x) = (x—2)e* is convex
downwards in the interval .............
@ ]—O0,00[ @ ]_1'2[
© 10,2] @ 10,00[

<>£J\JJ\W
T (V- ) = () S

3,2 b Jauy Uioe () 55G

Iy -l @ leocoo-[ (D
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13- 1fsin x = xy, prove that : ol edb o = el 8713
x*(y+y") + 2cos x = 2y ¥ el Y (ot 2) T
15 MN!&B
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14- [fxeY=2—In2 + Inx cwf+vf-v=u”_awg&§\sg
and %=6atx=2,y=0,ﬁndc;—f
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15- 1f f(x) = Vsin 2x — csc x, then f\(g) = B eyl = () 208 13

................................ =(%)6Q§
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16- 1f the curve: y = (2x —a)® + 4 has an sl H8713)
inflection pointatx =5 ,thena—......... e+ (P- u¥)= 0
..... — POl o= L ae D Ak

@ 2 b 4 @)
© s @ 10 WO

r O
o @
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17- A lake infected by bacteria has ldlae o2 L SO Bsle 35
been treated by an antibacterial .If L aSsue 8131 Sl sl
the number of bacteria z in 1 cm? BN ujg_,., 5270 T ) 2B

after n day is given by the relation
z(n) = 20 (1”—2 —In (%)) +30

such that 1 <n < 15 Lo 514 81 sas 05 e ()
(i) When the number of bacteria be

\~.+[(:“:)£J_\“:]v~=(u)%

N oer of b 5,500l i
minimum during this interval? L \ Bl e (L)
(ii) What is the least number of bacteria | =~ =~ NG
during this interval? i adiasliee
19 A pls
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18-

Find the volume of the solid generated

by revolving the region bounded by the
two curves ¥ = X*and y =3x-2

a complete revolution about the x — axis.

Q\Jjby&iu\v@\ﬁo&ji
Ol po by gaamal| dlate])
V-V =2
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